Ratio to CMS

1000/c do)/dm [1/GeV]

= =
o o
N w

=
(@)

IIII|IIII||||I_+_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

]
el
P
it
s

1071

1072

1073

107

1N°

[EEY

0.5

7000 Qev PP

Pruned Jet Mass(CA(0.8), 150<p <220, |y|<2.5)

CMS

--3-- Herwig 7.0.3 default
----- ¢ Sherpa 1.2.3 default

.' /
'. 7
<
.. 4
R4
. /

." 7
S
sm

o rs
R 4
'.' /7
-
.
.

“" ’
P i
. 4
s e
T

R 4

IIII|IIII|IIII_+ IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ |

Rivet 3.1.0, = 7.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


